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Choose the correct answer.

Each qﬁestion carries 1 mark.
{. Invalid knowledge is called —
(A) Paramarsa
(B) Prameya
(C) Aprama .
(D) Pramana

S| SIY S &l TW —
(&) ==
®) @
(C) wem
(D) e

2. Who is the founder of Samkhya Philosophy —

(A) Mahavira
(B) Gautama
(C) Kapil

(D) Kanad
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(A) T=I9R
(B) cMew
(C) 7=
(D) Fim
3. Satva, Raja and Tama are attributed to.—
(A) Purusa |
(B) Prakriti
(C) Brahma
(D) God |
o1 3q, 52 8 Nz R ofs arafie e
(A)
(B) eFle
(C) &=
(D)
4, What mﬁst be the case for an argument to succeed with a rational person ?
(A)- The premises must be acceptable
(B) The conc]usioﬁ must be acceptable
(C) The premises must logically support conclusion

D) ‘A’ and ‘C’ both
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(A) SR SRR AT TR
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(C) SRl (A P ferroend Fefe W
D) ‘A’ @R ‘C’ TeER

5. The argument “All men are mortal, Socrates is a man, therefore Socrates is
mortal” is —

(A) Inductively strong

" (B) Deductively cogent
(C) Deductively valid
(D) Inductively true
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(4) o AR T

(B) w=i0] SRR Y&

(C) T34 SR Y&

D) e} WA I

(3)



6. Vyapti can be proberly defined a8 —
(A) illvarl;abie concomitance
(B) causal relation
(C) sequence
(D) occasional relation
él If¥T IAAY Az 7o —
(A) SRR srsiifiret
B) FRPRL TooiF
(C) ===
(D) S T7o1F

7. According to Nyaya, nirvikalpa pratyaksa presents —
(A) bare objects without any characterization
(B) objects with its characteristics
(C) only characteristics, not objects

(D) analysis of the attributes of object
9| FFACS AR 2lepe IS I —
(A) [T 7=
B) RrifEe =8
(C) g e, 7@ T
(D) IFT SR ﬁmﬁ
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8. How many padrthas are accepted by Vaisesikas ?
(A) 2'(two).
(B) 7 (Seven)
(C) 4 (Four)
D) 6 (Si)
v | e o A A B T —
A) B |
®) TS
(©) 5
D) =

9. According to Nyaya “Ice looks cold” is an example of —
(A) Samanyalaksana pratyaksa
" (B) Yogajalaksana Pratyaksa.
(C) Paramarsa
(D) None of the above
S| WE (FATS M’ — T T S @2 A [For Srigad —
(A) AR E‘i’ﬂf‘T ﬁw
(B) Cuister 7% Eep
(C) =
- (D) FF 7
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10. Samkhya Satkaryavada is also known as —
(A) Prakrti-Parinamvada
(B) Vivartavada
(C) Arambhavada
(D) Bfahma-ParinHmvEda
yo | AR AHLIW |2 e AfSZe T —
(A) =pfs ~ifFaimam
(B) Rasaiv
(C) TlFZam
(D) F=-AAReam
11. Which of Ithe following is true about Purusa ?

(A) Pure and transcendental consciousness
(B) Ultimate knower
(C) Pure subject
(D) All the above
vy | e @Rt o Td 1y —
(A) Rum weifdn G
B) 4 1ol
(C) Rwm =9
(D) Sl e
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12. Samkhya believes in —
(A) theism
(B) atheism
(C) polytheism
(D) monotheism
SR FARY T P 4R R —
(A) Feam
(B) fteamm
(C) T2 TRM
(D) Qi

13. Who propouﬁded the concept of existential import ?
(A) 1. M. Copi
(B) Carveth Reid
(C) George Boole
(D) John Venn

\

S0 | SRPGER SR 4l @ TR FE 2
(A) Wiz, a¥. i
B) ey f7e
(C) =& 34

(D) &= C=A
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14, Ealch part of a truth functional proposition is called —
(A) Condition
(B) Component
(C) Conclusion

(D) Content

28| AT A Al SHF e —.
(A) =S
B) ©oAmA
(©) Frare
Oy
15. Which of the following is a political ideal ?
(A) courage '
(B) wisdom
(C). fraternity
(D) kindness .

el FEFETe @R aeafss Sas
(A) = |

(B) =&

(C) arew

D) v/
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16. ———_ is the basic unit in all societies.
(A) Community
(B) Family
' (C) Group
(D) Institution
ol At eS|
(A) Temm
B)
(C) catrdt
D) afsom
17. Membership in a caste in the society is obtained —
(A) by birth
(B) by socialization
(C) by giving money

(D) by membership in an association

a4 AAER (I WIS Ahem T —
(A) TIICSIE &G
(B) siifElearan M4 #teml Ay
(C) e
- (D) O (S Ao ATATE T e

(9)



18. Socialism —
(A)- favoured private property
(B) were against private property
(C) favoured individual controlled property

(D) regards private property as a solution of all problem

St Wm —
(A) fEsre TAfE TE T
B) Ifeare A=fen Raidiel =
(C) sfe Rrw ==t afgs ~ife
(D) IGs® FTAfGrF AR TP TG WA I
19. Who is the supporter of Scientific Socialism ?
(A) Plato
(B) Thomas More
(C) Marx
(D) Lenin
o | frgfelRe wifiema Wy & (A@i@e e Tds —
(A) 2T | '
(B) BRI (IS
(C) sl |
D) cfE
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20. Democracy is the Government of the people, by the people, for the peopic
who made this statement ?

(A) Auistotle
(B) Lincon

(C) Saint'Simon
(D) Carlyle‘

0| 5i99F T SR G Seed @l AAfRBIES TRt AeEarRE — @
OfE b 32

(A) wi?m‘;%ﬁ
B) ferma
(C) G e
D) Az

21. In which of the following proposition both the subject and predicate terms are
distributed ? |

(A) some glitters are not gold
(B) no glitters are gold
(C) some glitters are gold

(D) all the glitters arc gold
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(D) 7151 55T I8 T Gl

22. In which of the following syllogistic forms involves the fallacy of undistributed
middle ? :

(A) AAA in third figure
(B) EIO in first figure
(C) TAA in third figure
(D) AAA in second figure
R RS Fiem weRefr g @Rbte w6y om0 —
(A) AAA — T3 A |
®) EIO — #i9% 7H
(C) IAA — PO KA
(D) AAA — &Sl igzH

23. Which of the following can be symbolised by -(A-S) 2

(A) Sathi and Shyam will not be the teacher
(B) Sathi and Shyam will not both be the teacher

(C) It is not the case that either Sathi or Shyam will be the teacher
(D) Neither Satht nor Shyam will be the teacher
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24. The figure of a syllogism is determined by the position of the —
(A) major term
(B) minor term
(C) middle term

(D) copula

38| PR SRFA 7R @I A s i 7w —
(A) g = |
(B) = M
(C) &g M
(D) T

25. Which one of the following statements is correct ?

(A) A conjunctive statement is true if both of its conjuncts are true
(B) A disjunctive statements is true if both the disjuncts are false.

(C) A conditional statement is false if the antccedent and consequent are
true

(D) The truth value of a proposition is same with its negation
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26. Which type of change in gunas causes the starting of evolution —
(A) Heterogeneously
(B) Homogeneously
(C) Hanﬁorﬁously
(D) Sarupa-parinam
| SilufEE Wy & @l SR fRérm g v —
(A) Rrard sifadq o
(B) FEoR fiada
(C) 9T iffada
(D) =& #ifFs

27. Which of the following is a componént of Pararthanumana —
(A) Avidya
(B) Paramarsa
(C) Upanaya
(D) Vedana
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(A) S ‘
B)
(C) ©#7

(D)

28. According to Vaisesika school, the Universal ‘Cowhood’ is —
(A) eternal, one and residing in many
(B) non-eternal, one and residing in many
(C) non-eternal and many

(D) etenal and many
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(A) NS, 9F AR IW MY TSAA
(B) SHM®, 9F G IR W TEA
(C) TS R ]
(D) S @3] T2

70 What is the relation between two propositions if one is the negation of the
other i.e. they cannot both be true or both be false —

(A) Contrary

(B) Sub-Contrary
(C) Sub-altemate
(t)) Contradictory

(15)



Rblﬂﬁﬂaﬁ:aﬂwaaﬁmﬁmwawmmﬁﬁww
A el 2 367 420 97 Ao oy Wl G AH Yt 0O A AT —

A) Rafe
B) wd Feide
(C) =P
(D) =
30. An inductive argument is intended to provide —

(A) valid support for its conclusion |
{B) probable support for its conclusion
(C) invalid support for its conclusion

(D) probable support for its premises

vo | Y36 SCaE & F emig F30e bR
(A) Frattas tage
(B) Fraicea ssrret

31. Culture is L-:sually assumed to be —
(A) fixed and static '
(B) always changing
(C) mutually exclusive

(D) a subjective entity
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(&) TR @ From
B) 7 ~fFETa
(C) i oy
D) TR Rem

32. Which of the following is not identified as a defining feature of culture —
(A) culfurc is shared
(B) culture is transmitted
(C) culture is-symbolic
(D) culturé is learned

o} | FafeRe @Rt Acgfon WY ww o0t T —
(A) FKFRs =TIl
(B) IFS TFRIICAIS
(C) AFS el &ASlfS
(D) WFe fFrrifers

33. What are the two basis of community ?
(A) moral and political consciousness
(B) locality and community sentiment
(C) we-feeling and role-feeling

(D) group awareness and community awareness
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(A) T @ GRS o
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(C) Ssat-(Alg 938 gt~
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34. To stand in a queue in a ticket counter of a station isa—
| (A) gesture
(B) rule
(C) custom

(D) culture

08| CoHAA B S(bE AZE W e —

(A) oA

~(B) FEw

(C) =l

D) AF
35. The phrase ‘Cultural lag’ was first coined by —

(A) Maclver |

(B) Gisbert

(C) Tylor

(D) Ogbum
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(D) @I

36. Who thinks that “Sarbodaya’ is the goal of changing the society ?
(A) Binoba Vabe
(B) Swami Vivekananda
(C) Mahatma Gandhi
(D) Sri Aurobinda
©b | AT ARSI 77 A HAAS (T N FEA?
(A) Rl iR
B) = R
(©) T R
(D) & =i
37. In direct democracy who can take active part in the government ?
(A) elected representatives
(B) all people of the country
(C) only educated people
(D) only honest people
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(B) (TR e NE
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38. In the statement ‘Milk is white’ the relation between milk and white, according
to Vaisesika, is a case of —

(A) Samyoga
(B) Svarupa
(C) Tadatmya

(D) Samavaya
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(A) e | -
(B) ==
(C) oMy
(D) I
39. Which ;)f the following is truth functional proposition —
(A) If logic is not an art then logic is a science
* (B) I believe that logic as a difficult science
(C) Necessarily logic is‘lhe science of reasoning

(D) All the above
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40. Samkhya believes that the evolution of the world has its startmg point in the
contact between —

(A) Self and infinite material
- (B) Purusa and Pral&ti
(C) Finite material and infinite material ~
(D) Prakirti, Purusa and self
8o | ARY Mo Rren sy pifey o @ ccanom w1 —
(A) S 8 S IF

(B) ¥ ¢ (S
(C) FAW ¢ uiY 37

(D) 23S, +#9 ¢ &l
41. Which of the following is not a kind of perception in Nyaya-Vaisesika ?
(A) Laukika and alauikika
(B) Savikalpaka and nirvikalpaka
(C) Sﬁ'mﬁ'nyalaksan-a and Jnanalaksana

(D) Vahya and antara
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(A) ETfPT G SCEAREE
B) Rws ¢ Ffifems
(C) ANy &rpd @ B &%
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42. Which of the following propositions is tautology —
@) (pva)>q
®) pv(gop)

©€) pv(p=4)

(D) both ‘B’ and ‘C’
.Bilﬁmm@ﬁa WY (D FOeHE) 2
@A) (pva)=4q

®) pv(g=p)

© pv(rP=>49)

D) both ‘B’ and ‘C’
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43. In propositional logic, which of the following is equivalent to p>¢q 2
(A) ~p>gq |
B) ~pvg
€ ~pv~gq
D) pogq

" 44, The reasoning that uses general pdnciplé to predict specific result is called —
(A) inductive
(B) deductive
(C) both ‘A’ and ‘B’
(D) hypothesis

88 | mmwmﬁm@ﬂ%mwwmqﬁmmﬂ AT

(A) STEATE
(B) SRt |
(C) ‘A’ @ ‘B’ T=3
(D) &iw%
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45. The defining feature of a valid deduction is its —
(A vagueness
(B) indefiniteness
(C) certainty
(D) narrowness
selhﬂmmﬂﬂmﬂmﬁhﬂﬁ—
(A) SRl
B) wHfAee!
(C) ferszret
(D) A1l
46. What is enough to prove the inductive conclusion false ?
(A) —— |
(B) assumption
(©) concep;t
(D) counter example
8u | Y3 WA IR Braere Mt axd F7 &0 Fva @ R wawy
(A) == |
@) el
(C) &
(D) ofS Twrzad
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47. The sum total of the objects to which the term can be applied js jts —
(A) connotauon

(B) denotation
(C) meaning
(D) function

891 ool Ravm Tftg of: @R = ermremae s
(A) wrepef
(B) ey
(C) &g
D) &

(A) Kant
(B) Weber

(C) Maclver and Page
(D) Green

8Y | B2 X& ANZA WIS Wy TRE T8 ¢ Toow wows w0 v WEnF
frcm i — @3 5w @ FEe

(A) 31

(B) era

(C) Wia GiDel & (v
(D) 4
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49. When the we-feeling becomes excessive, it results in —
(A) cultural relativism
(B) ethnocentrism
(C) cultural lag

(D) mental strain

8% | WINAI-(AY I O T¥ T ©iF /e zo1 —
(A) FAFTosre SrarEam

(B) T2 adicafet
(C) 7cgfor sl
(D) =S 519
50. How many qualities are accepted by Kanada ?
(A) seven
(B) sixteen

(C) seventeen

(D) twentyfour

¢o | T A @ R TEH —
(A) TS
(B) =
(C) AT
(D) iR
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